+tEREHE X BIAO
(SF4FE9IA30RKREEER))

XEELUTOHMRLZIZDNTIE, THEELORFTTHY
EREXERLODEXGERELTHERSATOER A,

HhX %

=

tH

==

% (=) G
KET 289 289 578 289
Fa AT 839 355 1,194 894
FXET 115 155 270 125
Fi T 22 23 45 23
FEHT 139 130 269 140
[A] BT 10 5 15 11
ERHET 189 225 414 215
HHET 331 381 712 345
JEHT 277 260 537 264
= T 434 449 883 455
AHT 517 522 1,039 516
= HT 284 299 583 290
FRET 104 127 231 109
ki) 118 142 260 133
ST 114 118 232 121
SRHET 259 294 553 262
pld:) 62 52 114 55
FRHET 76 101 177 101
7o ET 133 148 281 152
JeHT 56 58 114 65
BE 17 17 34 15
=k 11 17 28 11
) 113 116 229 112
B{Z 59 57 116 47
FHE 29 24 53 19
LR 15 22 37 13
ITE 59 64 123 48
BOH 109 107 216 92
5 87 112 199 97
B 34 29 63 29
=5 52 51 103 45
B 231 244 475 193
= 5,184 4,993 10,177 5,286




